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Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-I, September-2012 only.
This question paper is not to be used for any other purpose except mentioned above under
any circumstances.

The intellectual material contained in the question paper is the exclusive property of
Central Board of Secondary Education and no one including the user school is allowed to
publish, print or convey (by any means) to any person not authorised by the board in this
regard.

The School Principal is responsible for the safe custody of the question paper or any other
material sent by the Central Board of Secondary Education in connection with school
based SA-I, September-2012, in any form including the print-outs, compact-disc or any
other electronic form.

Any violation of the terms and conditions mentioned above may result in the action
criminal or civil under the applicable laws/byelaws against the offenders/defaulters.

Note:

Please ensure that these instructions are not printed with the question

paper being administered to the examinees.
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TG U9 T I 3T WA, HRT-37 3T HET-o & o =0 & | 379! 21 9T & 9991 & 3w forem g

Tt 7e At €

R Y T W DI =TI YH TR T TWReg G- Sl & qie g # ofiqdt = e mn ¥ 9w o
3T Hael Teh Wil 59 i SR faes & fore 97 g |

3TTIh! WRT-3T 3R WRT-F o Fff Tl o IR go@, - gue fae g

WRT-3T & Y9 G 1Y 3 F U Ueh 3k o ¢ | 9o IR Ueh IIeg 37909 Weh AT 1 < |

WFT-3T & U9 G 4 Y 7 % Y GF STkl o & | Tk ST I 30 9Tsa) H < |

WFT-3T & Y9 T 8 W19 o T 1T STehl o & | Tk TR ST 50 Praai H < |

WRT-3T o T3 G 20 T 24 o T TS ekl & € | 9eh TR 1T 70 I1&gi § < |

WRI-& & Y9 GE 25 § 42 & YT TANTHE hivel TR TR agfoshedt U9 8 1 T U¥T Ueh 3Heh
g1 feu T =R fowedl § 9 Ul hael Tk o9 SUgE fashed g1 § |

General Instructions :

()

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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H-3 / SECTION-A
1. N AT TS Y I (WHH) Hi dqel Glerd & ? 1
What happens when you open a bottle of perfume ?

2. IR % W TR H AW fAfed S R F QOH G -FE W R WE RE 1
Hafga T

Name the cell organelle which you would associate with elimination of old and
worn out cells.

3. forus Sea gad Afuw T Ughiem Wi do0 dwel ¥ 91 9HE SThfd qon st 1
% 3|

Which has highest inertia : solids made of aluminum, steel and wood of same
shape and same volume.

4. e w1 39 STEERA &1 9 faten e 2
() O H IS T T H TR A I fagew wehdt €
(i) U HESIR SRV TA % HRUT AHT T F i wd |

Name the state of matter in which :

(i) layers of particles can slip and slide over one another easily.
(if) Particles just move around randomly because of very weak force of
attraction.

5. foorad iR Fmse & O i GO ST fCved guE iR wenfae & g § aifeemr % 2
Y I |
Compare in tabular form the properties of true solution and colloids with respect
to Tyndall effect and stability.

6.  BUR Sheplelid dF § T IR HeU & aneH #i fafaw | 2

State the role of ligament and tendons in our skeletal system.

7. ‘g 1AM foA T FRH W T R €2 2

State two factors on which value of ‘g” depends.

8. WRHT? Wi H I fred fafa | ger i Sdtehdr o0 Wie ford TehR geiferd it 2 3

What are manures ? State two kinds of manures. How does manure affect the soil
fertility ?

9. ‘&’ &l gfifd HIfST ) 9% YR SR | $9% T oY fafaw | 3

Define hybridization. State its types. Write one of its advantage.

10. foREt g & Ao T k1 frefafea g ger gifad @ € 2 3
(a)  Hdg I &HA (b) ~ AIHH ()  oTar
How does the following affect the rate of vaporisation of liquid ?
(@) Surface area (b) Temperature (c) humidity

1. (a) 2142 g SFTH & = &I =RAT H 34.2g = S| ARAT F A R Aiga@wm w3
TReReT i |
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12.

13.

14.

15.

16.

(b)y e = g?

(@) A sugar syrup of mass 214.2g contains 34.2g of sugar. Calculate the
concentration of sugar in the syrup.

(b) What is a solution ?

wifiee &t 91 T fafien | 78 =1t v fafau)

List two types of plastids. State one function of each.

e 3R Ty H T <R fafEu

(@)

(b) TS eI 3R Tonte 1 WS o sET |

(@) State one point of difference between xylem and phloem.
(b) Draw a neat diagram of xylem vessel and a tracheid.

3T Sk I THifehd o ST ST 8AR IR | HaeT i Hifeld idl & | 98 Sdsh [y
TehR ST o STTHR Sigail sl dsT TTid WS hidl & ?

Draw a labelled diagram of a tissue that transmits stimulus in our body. How does
this tissue enable animals to move rapidly in response to stimuli ?

Teh 2o WiEht Tgsh W THEHH @0 9 i 9 @i g | Fr=fafea @it § fafis aaa 4

2o ! =Tl &f TR

= (m/s) 5 10 15 20 25 30
qHd (s) 0 10 20 30 40 50

Sferd YA AL =Te-F9 U S qe1 Tishferd Hifg |

(i) < R

(i)  50s¥ gk gNI F i TR gL |

A truck is moving on a straight road with uniform acceleration. The following

table gives the speed of the truck at various instants of time.

Speed (m/s) 5 10 15 20 25 30
Time (s) 0 10 20 30 40 50

Draw the speed-time graph by choosing a convenient scale. Determine from it :

(i) the acceleration of truck
(if) the distance travelled by the truck in 50 seconds.

TF dg g IR it g GEf v o @ nfaeia € 9o wrgm "ug % U Qi form
ST § 37 9 © | IS Teg Teh YohUE T &Il © al :

(a) I G AR AU 96 o T R SIS HIT?

(b) I G AT A Hor o YREdA 1 SIS HTT?

(c) I |1 ATE 3Afeh @01 1 ST T ?

A large truck and a mini bus both moving with a velocity of magnitude V have a
head on collision and both of them come to a half after that. If the collision lasts for
1 second.

(@) Which vehicle experiences the greater force of impact ?
(b) Which vehicle experiences the greater change in momentum ?
(o) Which vehicle experiences the greater acceleration ?
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17.

18.

19.

20.

21.

QO
~—

ATe1 o ufedi # Yk (FE MEY) Hi ol B & ?

(

(b)  Torohe 1 FEaTEl ifdl ol TR THT A9 B9 Ui i AR G o1 €, i ?
()  Tfaei shepe fagsl & o9 ¥ T R ST X-=R R <18, Hi 2

(@) Why are the wheels of vehicle provided with mud guards ?

(b) A cricket player lowers his hand while catching a ball. Why ?

() Why a glass pare of a window is shattered when a flying pebble hits it ?
fefeft oo 1 20 m H 91 | fiven < €,

(@)
(b)

Yool ol T qeh Tge T S ferd HHA I 2
Jeal § THTT T IGHT TR 1 1A 2 (g=10ms ~2)

A stone is dropped from a height of 20 m.

(@)
(b)

How long will it take to reach the ground ?
What will be its speed when it hits the ground ? (g=10ms ~2).

e T (g) 991 Tecata feerdieh (G) § dfiF At fofaT |
Write three differences between gravitational acceleration (g) and gravitational
constant (G).

(@)

fepam /X’ < WAl + W + W wEel Sl T WY T 2 ed | i Yed
W I | FREE Y’ 7 SIS %l ®Oe T AGH § 991 37 96] § gy
T I W H HHAR Yo AT wREE F ATER M fREE X aun Yy’
SR ST e Yed % M fafau |
TR /X Qe Y’ BRI SAUATY T et Y o < Il 1 shast: a0 s |
Farmer ‘X’ planted Soyabean + Maize + cowpeas in the same field
simultaneously in a set row pattern. Farmer ‘Y’ planted cereal crop in one
season and leguminous plants in next season on the same piece of land in
preplanned succession. Name the cropping pattern used by farmers ‘X’
and ‘Y’ .
State two advantages of different cropping patterns followed by farmers X’
and ‘Y’ respectively.

AUdT / OR
31 T el (WSR) It 9o wiE & faw (Ser) gt § < 9 fafaw
i 1 S YHR F W G HY a9= 1 Gha1 £7 TRl o faferdi o aoH
IS |

State two differences between egg layers and broilers.
How can poultry fowl be prevented from various diseases ? State any three
methods.

I TR o fore for el & s =iga |12 2 €, forslt fopameratma &1 vfa wifsw )
veref k1 uRenfud wifsw ) yerd it 39 el & A fafay fSas gees wui
F T 9 ST S

(@  Hud @) A

<1 qe HIMRT TH% hl STNT-SFelT SR H Wod W 9 IR ! ema fa & o 21
F Y I E? HAUT HI gfte Hifew )

Explain with the help of an activity which shows that particles of matter are
very small.
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22,

©)

Define matter. Name the states of matter in which the forces between the
constituent particles are - -
(i) strongest (ii) weakest
When sugar and common salt are kept in different Jars, they take the shape
of the jars. Are they solid ? Justify your answer.

AYAT / OR

frefafied & forg § fafaw |

(@)
(b)
©)
(d)
(

e)
c

ST IR T STt H HieTd © Sl St & TR H 18 fow gfg 7E e |
Afyeh JE@R M W Afe & M TR el 922t W & gemg & St
T St o1 IS SIET TR Bie §Ha & 919 foq< 81 Sl 3 |
Teh IS 9 ST ol S hel Sl ¢ |

FI T THAT § S ST T ST AhIT B K |

Account for the following :

—
QO

)

When sugar crystals dissolve in water, the level of water does not rise
appreciably.

Doctors advise to put strips of wet cloth on the forehead of a person having
high fever.

Naphthalene balls disappear with time without leaving any solid residue.
A wooden table should be called a solid.

Dogs generally hang out their tongue in summer.

a1q f= fagoll & eradl 1 gere i B St gereentor fafeat sromia ? 5
HR o T AFA U o1 % Bl Ihe |

wiat # Frafrea faedt @ gem s |

ST | da |

Qifeaq FAREE Uk Seitd foera § |

T | FER |

I8 ¥ g T

%\r\/\
Lz e

CRORC
zz

71 =1 TEmEfTe @R wifas afedl | arfied it
(@) ST Rl SSCTHT AT (H79) ST

(b)y TS I AT

(c) ST T ST

(d) Al 9 HAR SHMT

Name the separation techniques which you will apply for the separation of
the following mixtures :

(@) small pieces of metal in the engine oil of a car.
(b) fine mud particles suspended in water.
() oil from water
(d) sodium chloride from its solution in water
(e) camphor from salt.
63) wheat grains from husk
Classify the following as a chemical or physical change :
(@) Water boils to form steam
(b) Burning of paper
() An almirah gets rusted.
(d) Making a fruit salad with raw fruits.
3AYdT / OR
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23.

() 9T qur faweid fago § i 99 @ fafew)
(i) < HRN R gfe HifSTT foF ST wen Aifiren © s =@

(i) Write any three points of differences between homogenous and
heterogeneous mixture.

(if) Give two reasons for supporting that water is a compound and not a
mixture.

71 o o o s 5

() Avm e 3 A % e v Tt A

(b) i aq foRet ffeem faem ® nifa 2 W@ &1 9o @O 3T FAea 2 |

() e staeen & fordt ovg & STra o o1 wfRwTor STkt Td el o SeR BT € |
(

(

d)  THEEE @A A 6 T SRR
e) TH I (R) a1 & IR wan H ¥W W 1 5K q9 R T O q€q1 ST
farzemas == M 59 a7 1 ufRe g L R

Account for the following :

(@) Name the quantity which is measured by the area occupied below the
velocity-time graph.

(b) An object is moving in a certain direction with an acceleration in the
perpendicular directions.

() Under what condition is the magnitude of average velocity of an object
equal to its average speed ?

(d) An example of uniformly accelerated motion.

(e) A body is moving along a circular path of radius (R). What will be the
distance and displacement of the body when it completes half revolution ?

319ET / OR

= & oo o sy |
(a)  Tordl a5 oUW T AeRfd 91 BFTT STA S9! ThEHM 1 81 2
(b)  STHHH I T Tk ST SIT |
(©) A HR AT BEF x-t U == T H gwiiw 7w €, fergept 3 s1fers g 2

x A

309 B

30°

t
(d)  S-HEF U A & § AT T af¥n s St 72
()  FE A% 10m/s F o § AN T, Al o T 8, N 10 s 1S IR o1 T

& 2
Account for the following :
(@) What is the shape of the path of a body when it is in uniform motion ?
(b) Give one example of non-uniform motion.

() Two cars A and B have their x-t graphs as shown in figure. Which has
greater velocity ?
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24,

25.

309

30°
t
(d) What is the quantity which is measured by the area occupied below the
velocity-time graph ?
(e) A body is moving with a velocity of 10 m/s. If the motion is uniform, what
will be the velocity after 10 s ?

(@)  100g T 200g FHM i 31 qE UTH & W@ & oigfew ww & foon F wwer 5
2ms— 1R 1 ms—1% a9 nfa # @t T ﬁaﬁiwm%l '{3[5@ ED
TR T A% 1 AT 1.67 ms ~ 1 B S §, T GHU %] 1 o 1 T |

(b) I R A9 | FIA T A A WS FI SR FT =l Sl T2

(@) Two objects of masses 100g and 200g are moving along the same line and
direction with velocities of 2 ms 1 and 1 ms 1 respectively. They collide

and after the collision, the first object moves at a velocity of 1.67 ms ~ 1.
Determine the velocity of second object.
(b) If a man jumps out from a boat, the boat moves backwards. Why ?
3YgdT / OR

@ e & T & g fem @ Seorm it 3R < Serl 51 3 e
BEEIERT

(b) I ST geRull H STERAeh e qRepfed ity :
()  4kgFHIH HT 2.5m/s2 Hl T Y @RA A H |
(i) 10 kg ZSHAM &1 3.0 m/s2 ! Y @A HH H |

(@) State Newton’s third law of motion and give two examples to illustrate the

law.
(b) Calculate the force required to produce :

() an acceleration of 2.5 m/s2 in a body of 4 kg
(if) an acceleration of 3.0 m/s2 in a body of 10 kg.

HI-o/ SECTION - B

3R ! A & Teh A H Herfaar el +i sufeafa ot 9 & fau A =R fafmi 1
Tt €, el fafu g

(a)  5g T I 5g HefTar el # <t |

(b) SgWﬁSmLWﬁ'{ZﬁgconC.HClﬁ@WWI

(o) 5g 3ecll T %l 5 mL ST § STel T |

(d)  5g 39l A H 5 g Hela el | et T

Given below are the four methods of testing the presence of metanil yellow in a

given sample of arhar dal. The correct method is :
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26.

27.

28.

29.

) 5g of dal is added to 5g of metanil yellow.

b) 5g of dal is added to 5 mL of water and 2 drops of Conc. HCI
) 5g of boiled dal is added to 5 mL of water

d) 5g of boiled dal is added to 5 g of metanil yellow.

e % e % T T Rl WEAe § A SHH = #1 S & {6 A +5 @
g STelt T et 1 e

(@)  dien (b) M () (d)  rer-sRren

A sample of rice extract was taken in a test tube and a drop of iodine was added to

test for starch. The colour observed will be :
(@) yellow (b) blue (c) black (d) blue-black

STC <l SFeleiieh HIOH H, ATHTT %kl $9 YehR THT =6y, foh SHehT sied

(@) SAHEATI (b) A F TS HFS SW A

(c)  UH ! Tl ! TRl AL (d) O %I HTh o I B

While determining the boiling point of water, the thermometer should be kept in
such a way that its bulb remains :

(@) dipped in water (b) just above the surface of water
(@) touch the bottom of container (d) near the cork of the container

H& Y (30°C) T HIE B d%h T Tl F1q H & T ITRI FafErd L &1 98

T Y ST O SR AR STH qHTHIeR ol ST ¥ 1 T eI ©

(a) YR H UR I q@ —1°C TISAIH qh FIRA % =15 f7ard & S 2 |

(b) 9 fRERR 0°C ek TgaH f7ad 21 <ima € 3R g o foeer ae o wan €

(€ W H Y firar & R ok & oo W ae o 7

(d) 9 R §, 0°C W UETAT &, 1 Tk SR S <1 o Suferd W deh frad
gl

At room temperature (30°C) a students sets up an apparatus to determine the
melting point of ice. He takes a beaker half filled with ice and dips a mercury
thermometer in it. The correct observation is :

(@) mercury in the thermometer keeps on falling till it reads —1°C, it remains
constant there after.

(b) the temperature falls, reaches 0°C then it remains constant even after the
whole of the ice has melted.

() the temperature falls at the starting, but starts rising as soon as the ice starts
melting.

(d) the temperature falls, reaches 0°C and remains constant only as long as

both ice and water are present in it.

T N I TN
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30.

31.

32.

(a) A (b) B D
Which one of the following figure describes the process ?
Solid ﬂ) Vapours
W
‘3 l
C
() C D

=Tk T STt H e AR foRan ST wehd &

(a) =T h LS hl A H @R |

(b) T % UIRBEL hl STl H STeTeh |

() =k % UISEX i A H ST IR Y 3181 @ feament |
(d) =Tk % UISE sl HCI H STl |

A suspension of chalk in water can be prepared by :

(@) placing a piece of chalk in water.

(b) placing powdered chalk in water.

() placing powdered chalk in water and then vigorously shaking.
(d) placing powdered chalk in HCI.

Sile-0l T4 ToF & 0 § ITF TFa! 1 ST L o foaw @1 A T 5@ T,
o o ol 1 s & srem i

(@ =A™ (b)  3THeH N

()  To9Rd 5N (d) TR % YA ERI

Rama is doing an experiment to separate the components, of a mixture of iron
filings and sulphur. She will separate the iron filings from the mixture :

(@) by filtration (b) by distillation

(o) by sedimentation (d) by using magnet

T s H 100 mL HIR Hethe & gw faeraq faan g 9o &t $2 aen s 8§
TTell 3R 38 $5 v % fau v Sie oo fagor <6 oo ura & & foaw s,
TR hT LT o7

(@)  BRa e (b)

(c)  BARIET d) FEawd
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33.

34.

35.

100 mL of saturated copper sulphate solution was taken in a beaker. A small
amount of iron filings was added to beaker and left undisturbed for some time.
The mixture was the filtered to obtain the residue. The colour of the residue was
found to be:

(@) greenish blue (b) reddish brown

() faint green (d) steel grey

ST el o1 How TI8e & g0 1 TH FHieh AR I T h1 Toh TAR B @I
T Y SYANT HTAT ey :

(@)  Hwfew (b) 9N T

()  =me e d) U few

Amit was doing an experiment to prepare a compound by heating a mixture of
iron filings and sulphur powder. He should use a :

(@) Copper dish (b) Watch glass

() China dish (d) Petri dish

g HeHfeh 37 i 91g W foran o1 Teh I Y @1 o911 38 qEe § Gowrfish
TR TR ST fSioh % T STl | 9% 98 YeTo1 kT foh

(@) &% % I I=ee § uRafia & T

(b)y TS 1 31 e ¥ wRe B T

(c) TSI % M I SR =Fa 7411

d) S wg =t | FHenicl 8l T |

Rahul was doing an experiment of action of sulphuric acid on a metal. He took dil.

Sulphuric acid in a test tube and added a few zinc granules to it. He would
observe that :

(@) zinc granules change to powder

(b) colour of zinc changes from grey to white

() the size of the zinc granules keep decreasing
(d) the surface of zinc metal becomes bright.

HTel IS HIRTHISA! Hl LTS TATS M 6l 91y 1 Tl 7 €

(@) U PR HT G I o1 T % S § W

(b) YIS HITHT Ht GTEF HI HE TS & TeA T & |

(c) U HIRTRT i God &l ¥ Ik g WA | galoh | WEe W THARd
EQCR

(d) e FEE F e e S e weee ¥ T R 6 e w5 e
T B

The correct step, in the procedure for making a temporary slide of human cheek

cellsis:

(@) place the cheek cell scrapings in a watch glass containing water
(b) place cheek cell scrapings in the centre of a clean slide
(c) dip the tooth pick containing cheek cell scrapings in the stain and then

transfer to a clean slide.
(d) obtain cheek cells directly in the slide using its edge to scrap the inside of
the cheek.
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36.

37.

38.

39.

40.

i 3 @S i faee w el wWiee T § qect Y& < fa TR 1 36 9hE
ot fereed =i fawmere = o ?

(@) Tt (b)  IREII c & d)

Sita was preparing a mount of onion peel for observations before staining. What

was the appearance of onion peel at that time ?
(@) pink (b) transparent  (c) green (d) red

SHUICT ShIIYRT i STEATE T3S ol Yeueel H Uier id wHd St Tl el Tt <t =
®:

(@) ek (b) e Rt

()  hIf¥wER1 24 (d)  hIfemRT Tt

While observing the temporary mount of cheek cells under a microscope, the
structure which will not be seen will be :

(@) nucleus (b) cell wall
() cytoplasm (d) plasma membrane

TIEY hITSTehT hi HEM HIe i <E@d U IR SHI o W THREHT & & 36 TR i

() T 9 Haferd g T

(b)y faf= g, wer fufa =t i)

€  fom Fesep & it fufa Al sifemend )

(d) ST g

While observing a thin section of a plant stem, four students sketched
sclerenchyma as :

(@) compactly arranged cells (b) lignified, thick walled cells

(c) thick walled cells without nucleus  (d) all of the above

T8 T o eTiengha eifaRifta Sfifaa sifde gaqelt fuafa oiR faa womi gfed 2t ©
TE

@)  SerEE AR (b)  ICTRIEHT Seh

(©)  ThollhIgHl s d) favsrds sah

The tissues which consist of relatively unspecialised living cells with thin cell wall
and intercellular spaces are :

(@) parenchyma tissue (b) collenchyma tissue

() sclerenchyma tissue (d) meristematic tissue

foRerfier gra STeenfid STl bl Yidwrdl I et <k Tk yam | foreft fomneff 3 gl
frafill &1 oMM 4.0g do1 S | wifeg feafe @1 gomm 7.0g e fwan
fermifirell g1 sTarRifa STet sht Wfeaa @

(a) 20% (b) 10% (0 75% (d)  40%
While doing an experiment to find out the percentage of water absorbed by raisins
a student recorded the mass of dry raisins as 4.0g and mass of raisins after soaking

in water as 7.0g . The percentage of water absorbed by raisins is :
(a) 20% (b) 10% (c) 75% (d)  40%
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41.

42,

Teh TR AHE! 1 solich TorgeRT Tk fau1 ger ©, U &fast 39 w feoa &1 ot o
fafim 9/l 1 TH-THw H W@ T B wdAh ok 9R R 39 A WM w6 fag
STEREe <A o, T a1 ol TR ik QI o TE, T ] fud e | I8
ferd feparn foh TR scileh s TTid WM i o fofq SMTerearsh st Afeshad g <isl &
IR W@

(@) 40 gwt. (b) 25 gwt. () 30 gwt. (d) 35 gwt.
A rectangular wooden block open from one side is lying on a horizontal table.
Different weights are kept in the box one by one. To establish relationship
between weight of a block with minimum force required to just move it using a
spring balance. It is observed that the force required to just move the rectangular

block is maximum when we put a weight of :
(@) 40 gwt. (b) 25 gwt. () 30 gwt. (d) 35 gwt.

AfTs A W AMIHR Akl & sclleh & R IR Y Tfeiad aH & forg, foim gen &
TART §RI SAEREe =[IqH 90 o s Y T el & Ya0 § 98 Ufaa foean T

(@) AT STl H & |

(b) A STgd Afteh & |

(c)  dftes STgcl Yk o7t |

(d) e d 9 & oiF HIE G T8 |

While doing an experiment to find the relationship between the weight of a
rectangular wooden block lying on a horizontal table and the minimum force

required to just move it using a spring balance it is observed that :
(@) more inertia less force

(b) less inertia more force
(c) more inertia more force
(d) no relationship between inertia and force

-00o0-
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